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COP Certificate No. C C 0 L T 6 2 1 9  Date : 26
th

 MARCH 2024

Cert Dwg Total

1 0 1 pg

EXEMPTION CERTIFICATE FOR

CONFORMITY OF PRODUCTION

   (For compliance to AIS - 037) Non- Transferable

1 Name of the Applicant : M/s. Tracole Technologies

2 Address of the Applicant:

SF No. 21/1, Patta No. 87, School Street,

Chettyaragram, Chennai - 600095, Tamilnadu, India

3 Manufacturer of: High Security Registration Plates

4 Name of the Manufacturer : M/s. Tracole Technologies

5 Address of the Manufacturing Plant:

SF No. 21/1, Patta No. 87, School Street,

Chettyaragram, Chennai - 600095, Tamilnadu, India

6 Actual production previous year (2023-24) 0

Valid Until:

*May change subjected to any further amendment in AIS : 037

31
st

 March 2025

Previous COP Certificate No: NA

Description of Test Components:

High Security Registration Plates (White, Yellow & Green), Third Registration

Plate Sticker (Background Color - Orange, Blue & Grey) and Snap Lock.

TAC No. CP6478 dated: 18.05.2023

As per the customer request letter dated: 02.03.2024, affidavit dated: 02.03.2024 and CA certificate reference (FRN 7707S) dated:

02.03.2024 submitted by the applicant, the commercial production of component mentioned above has not started.

The declared production quantity comes under the category of CoP exemption for component wide Clause No. 11.1.1.1 of AIS

037:2019 amendment 10 and wide Clause No. 8.2 AIS: 159 as published on August 2019.

Hence CoP is exempted for the component manufacturer for the component.
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